73

74.

5.

76.

77.

WWWF?WWWWEF%@W
Generally what should be the ratio of Internal rate of return and cost of
capital rate ?

(A) YSTeRT ST 37 W=7 F9 (Less than cost of capital rate)

(B) YSTeT @I &7 9=T 94T (More than cost of capital rate)

(C) YSire ANT T¥ a7 (Equal of cost of capital rate)

(D) & 9T &r29 (None of the above)

ST &S (Capital Budgeting) #1 75ed % & g ¢ ufes TR
Identify the importance of capital budgeting from the list given below:
1. &TeTeiT 99T (Long lasting impact)

2. ¥ FAET (Invlves substantial amount of funds)

3. wufeaeT 9o (Decision is not flexible)

4. =T FETAHT S 7589 (Ignore current assets)

(A) 1 and 4 (B)2and 4 (C)3and 4 - (D)1,2and 3

FT AT AT T A 74T I AAIET ATAAAE B 9 7

What is called a ralation between earning before Tax and earning before
interest and tax; ' 3

(A) faxirr g9r=#Ifar (Finacial Leverages)

(B) AIT® JHEHINAT (Combined Leverages)

(C) 4TSI garaaiear (Operating Levarage)

(D) %+ 9f7 €159 (None of the above)

focfa faaorerrs . faraeor afg wfaes |

Financial statements are also known as ................ statements.
(A) =9&T7® (Behavioral) (B) U@t (Historical)
(C) 71 (Research) (D) 9rf¥# (Preliminary)

Wmmmmmmm&aﬁmﬁ?

Which of the following is correct relating to basic rules of Pouble entry

accounting? :

(A) Sfae a9t 7 Hfge sraf wf@=g | (Should write Debit on the right
and credit on the left.)

(B) 9% sfae &y awmEvar $feer oy &1 & | (For every amount of

78.

debit there must be same amount of credit.)

(C) voa% Sfqe whw et #fee w9 g7 wrava® 37 (Debit and
Credit amount need not be equal.)

(D) AI4H % 9 8159 (None of the above)

A@THIA STEF ST BT Uer TYEH 7 7 .

Which act constitutes Accounting Standard Board:

(A) #fd% T (Fiscal Act)

(B) S@THW T (Audit Act)

(C) fafars= &7 (Appropriation Act)
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(D) 79T ATEE Q?FI—ET& ’é‘ﬁ*ﬂ'r T (Nepal Chartered Accountant
Inatitute Act)

What status shows in balance sheet of company :

(A) FAFH FFIAFT 2407 (Status of Market Management)

(B) ATET Armae! [#4iq (Status of Profit and Loss)

(C) g Tar weafaar feafa (Status of Capital and Assets)

(D) S&TEA @A f#4fA (Status of Cost of Production)

. %ETT WeX & @rAT SR fae faaerr 9e

Which amount does not consist of Financial Statements of Company:

(A) arg«ra (Balance Sheet)

(B) ATET A&t @t (Profit and Loss Account)

(C) @ &rar (Cost Account)

(D) %+ 97 &7 (None of the above)

. ©Tg AT

Goodwill is:

(A) Freatae Frafd (Fictitions Assets)

(B) =T &=t (Current Assets)

(C) =™ Tt (Tangible Assets)

D EEE (Intanglble Assets)

| A e FEe T A

Who can liquidate a company?

(A) #TT (Law)

(B) =4t (Person)

(CyHT®T (Government)

(D) AT &+ 9fF &5 (None of the above)

. TE=A P &% T GEATSTRIA |

Identify ‘True' or False' in followings statements: -

1. ®eAT TAPT Y@ YT FEIAIR AT, =T A9l qIHAA
ovF T4 WOH, wee 7 GPEd s # | (The main objective of
the current compnay act is to make the incorporation operation and
adminsitration of companies much easier, simpler and more
transparent.)

2. FHEAT T, ?Oﬁmﬁmmﬁﬁﬁmm
T FREITE | (According to company act 2063 ‘Company’
means a company incorporated under this act.) )

(A) 1 $r& &1 2 T8 & (1 is true but 2 is false)

(B) T4 faavwres % @A (Both statements are true)

(C) 34 faavues &% B (Both statements are false)

(D) 138k & 2 3 & (1 is false but 2 is true)

fo¥



84,

85.

36.

87.

88

e fegue faavumr 3 7 38 qfe=nT TR |

Identify ‘True' or 'False' in followings statements:

|, TOIE FEIE SRR et YIS ATH T8 HEAT g TeE
(Every company should maintain its accounts according to the
double entry accounting system.)
| (Every company should maintain its accouts according to the
single entry accounting system.) :

(A) | 1% &7 2 38T &7 (1 is true but 2 is false)

(B) 138 &2 31 #1(1 is false but 2 is true)

(C) g faazures. 51 B, (Both statements are true)

(D) %4 faavore® 8% B (Both statements are false)

STATAH [ARAATE B TAH Tl HA 213 ?

Reason for business failure includes all the following expect:

(A) TaT g3l @ (Lack of sufficient fund)

(B) FwAe gftads g1 |¥El Aha (Frequent change in government
policies)

(C) TurER F& e 9 79 (Lack of quality products)

(D) =Ha=TIE HEHAT (Managerial efficiency)

7= faguer faaemmn &rF 8% ufe=r T e |

Identify 'True’ and 'False' in following statements:

1. FEIATERT ATLRY AT A1UE T ALANEE T 5% THFPEHE §a | (The
general meeting of a company shall be annual and biannual.) i

2. FEHEHT AR 97 aue 7 e T g€ ywee g7aA | (The
general meetings of a company shall be annual and the extra
ordinary.) ;

(A) | 3% &1 2 38 2 (1 is true but 2 is false)

(B) 1 38T &12 1% & (1 is false but 2 is true)

(C) g fqavwes &% S (Both statements are'true)

(D) 34 faeeure® aE% @A (Both statements are false)

WW%WWWW(C%hb&m)W

TEAF TH FATS TISS ¢

According to Nepal public sector Accounting standard which of the

following defines each basis? |

(A) T7g 9918 (Cash flows)

(B) g 9TT (Cash receipts)

(C) 712 Al (Cash payments) -

(D)WM&TWWWWTWWM
@iET qE (A basis of accounting that recognizes transactions
and other events only when cash is received or paids)

#ETTF FEIAT (Subsidiary Company) =T Z8TA& Al FA m‘—ﬁﬁ'ﬁa’

THTIE ¢ (FFAT BT AT

fo¥



" 89.

90.

91.

Which of the following defines subsidiary company? (According to

Company Act)

(A) 9TgHZ F¥IAT1 (Private Company)

) it HFT (Public Company)

(C) &7 %=1 (Holding Company) % fHa=orr 7@=@r 9991 (A
Company controlled by a holding company)

(D) FrEd FFT (Listed company)

Identify "True' and 'False' in following statements:

|. FFIATEl o T AT FEET A9 99 49 @98 (The
audit committee of a company should consist at least three
members.)

2. FAT A, ?Oiimwﬁwqommﬁmﬁm@mm
TRUF B | (Chapter ten of the current company act described
about voluntary liquidation of a company.)

(A) | 3% 212 381 & (1 is true but 2 is false)

(B) | =& 12 3% &1 (1 is false but 2 is true)

(C) 3a faavwres $% @A (Both statements are true)

(D) %7 faavwes 3% B (Both statements are false)

3@ JUTE (Account System) & FHETAT FAFFATACEAE ... 7
.......................... faeira &= A= TSRS |
The accounting system prowdes .............. AN Lt i s financial

information to interested parties.

(A) wraEfrE 7 favaaA™ (Relevant and reliable)

(B) &1 ¥ wargsnT (Efficient and effective)

(C) wwrasft 7 waTgs® (Inclusive and equitable)

(D) AEANTATHAF 7 EE?’ET!?T (Partic‘,lpatwe and responsible)

TeAA fqavuET 3 7 a5F AR |

Identify 'True' and 'False' in following statements:

|. TEIAT ATEAT @l FATAT AT FUST ATITHT AEITE | (Company
should maintain its accounts in the English or the Nepali language.)

2. FEEW ATHEAT F@T Tl A9ET 975 TET9E | (Company -should
maintain its accounts only in the Nepali language.)

A) 1 3F 812 g8 &1 (1 is true but 2 is false)

(B) 1 =& &2 &1 &1 (1 is false but 2 is true)

(C) 37 faawwre= &% @A (Both statements are true)

(D) % faazure® &8 @A (Both statements are false)

Match the contents of following and select correct answer:

a. HFAT fEdg wwr . WTAT 4T {ehRIAT @ran
(Financial Accounting) (Receipt and Payment Account)
Cb. @TTA oET 2. wEEl fgveEe

o&



94.

95.

{Cost Accounting) (ABC Analysis)

C.  EEETIEE Sl 3. dEredr faveww

(Management Accounting) (BEP Analysis)
d. TemaTd =E|ias o|n 4. ATHT AEETA

{Accounting for Professional) (Profit and Loss Account)
(A) a-4, b-2, ¢-3, d-1 (B) a-1, b-4.¢c-2,d-3
(C)a-1,b-3,c-4,d-2 - (D) a-2, b-3,¢c-1,d-4

. EETHHT SET GEAIE ATUET Fiq 97 a4 WA fRawe W A€ 3w

FTed | '

On the base of following accounting information determine Instrinsic
Value per share and select correct answer:

ferar fershar Fe AT FEAT
Description) (Vendor Company)  (Purchasing Company)
T T 5.00.000 120.00.000

(Total Assets NRs.) . '

AMTE Slfdcde® Rs. 1.70.000 Rs. 3.00,000

(Trade Liabilitics NRs.)

% 100 AT HT FTLIE9T g7 Rs. 1.50,000 Rs. 3,00,000

fashar F=rdrer ufF 2 9197 9199 FAT FEAHE 2 997 7 EEEe ared

- g & #EAld wUH @ | (The holder of every three shares in vendor

Company were to receive two shares in purchasing company plus cash

as necessary to adjustment.)

(A) fasar e R0 ¥ HAr FEART 300 (220 for Vendor
Company and 300 for Purchasing Company)

(B) famr wwqdrdr Mo ¥ F:a@ &AM IR0 (250 for Vendor

- Company and 320 for Purchasing Company)

(C) faar @F¥adrr 300 7 HAT FEEAE 300 (300 for Vendor
Company and 300 for Purchasing Company)

(D) faar o 300 7 HAT FEIATRL MO (300 for Vendor

Company and 350 for Purchasing Company)
In which date prevailing Company  Act comes into force?
(A) 2052 " (B)2033 (C) 2054 (D) 2055
e feguar fFugesar ser faars ad 3u7 g |

Match the contents of the following and select the correct answer:

a. FFAI @ . FEAT F9EA qS=ad
. (Liquidation) : (Company Opertlon Continues)
b. A& . 2. HA FIHT AA1 HEIAT FTIAT
(Amalgamation) J omﬂy New Company)
c. faemm 3. ATENE TR
(Absorption) (Internal Reconstruction)
d. TATEA 4, FEHAT TG FHET

]

qole



 (Reconstruction) . (Company Registra Office)
(A) a-4,b-2.¢-1,d-3 (B)a-1, b-4,c-2,d-3
(C)a-1,b-3,c4,d-2’ (D) a-2, b-3, c-1, d-4
96. ZETT HE T FETH] FHIATE QAT 78 7
In which of the following conditions company goes into liquidation?
(A) FFIAT LR AR (By the order of Company Registrar
Office)
(B) #ET@A® AT (By the order of Court)
(C) Ht=gtvaa= e (By the decision of Cabinet)
(D) wifqer %+ 97 €57 (None of the above)
97, FTIHTHRI AT a7 ARIH] @9 T TATASATHT 958 |

In which priority the payment of liquidation expenses lies?

(A) 9fe=r (First) (B) =T (Second)
(C) 7= (Third) (D) =4t (Fourth)

98. UeTraTe ATRATE SET Hed ®A @l Ar99UE 9aA
Which of the following Account is not requirement for professional
men?
(A) 9T qRTAT @TAT (Receipt and Payment A/C)
(B) wm=Tr @= @ (Income and Expenditure A/C)
(C) sra«ra (Balance Sheet)
(D) AT AT @ (Profit and Loss A/C)

99. FIeT WaATSTeH |
Match the following:
a.  gHT (Assets) 1. =RUETAT (Creditors)
b. @4 (Liabilities) 2. #a9 (Ratio) ,
c. THET (Equity) 3. = ATRET (Interest Income)
d. 7reiT" (Revenue) . 4. @9 (Dividend)
(A) a-2, b-1, c-4. d-3 (B) a-1, b-4. c-2, d-3
(C) a-1,b-3, c-4.d-2 (D) a-2, b-3.c-1, d-4
100,99 F¥==1 #@r fafg (Accounting for profession) Wl Z8Td@& Hed &A

Accounting for profession includes all of the following account expect:
(A) 9T=AT ﬂ?ﬁl‘rﬁ @rd1 (Receipt and payment account)

(B) #m=THr @ @l (Income and Expenditure Account)

(C) ar9gera (Balance Sheet) ;

(D) |7 @@r (Government Account)

qoT



¢l Ja1 3TRAET
TSR gt Hult, swfatas awer fafvs dan aqg, ma ar
HEvE TEH! G I gfaaifimeas fafem adten

THT : 9 HUAT 30 AT fafer : R099/9% /39 ™

o= =Jqd (Rfeew)
fasm - Account & Finance

FEEE FIIET (00 X 1 = o0 )

IUYEAFTHT eI Key 198 3960 Jeoi@ THUAS | Jooid 00T
ST 7€ §18 | AT THEATET FATekeia? TI0 79 gy 37 |

o]

ferfrar fa=or (Financial statement) &7 IUTcHe fa9iaTes T qeret &
=AME B8 7

Which one is not the quahtatwe characteristic of financial statements?
(A) FT=ide®ar (Relevance) (B) faras=irgar (Reliability)

(C) To=ar g (Comparability) (D) FHERTET (Inclusiveness)

SraTar A fegT= ST wel A e

Generally accepted ~accounting prmmple (GAAP) includes all the
following except:

(A) =TEaETaE AfeTcasl 97T (Business entity concept)

(B) Fz=wzar®r 9@ (Going concern concept)

(C) @t greom (Cost concept)

(D) IRl g (Inefficiency concept)

YEHT FEATHT SATIAESE FEAT AT FET & Ea |

The number of shareholders of a private company should not exceed
(A) 79T (fifty) (B) ATE (sixty)

(C) |77 (seventy) (D) 4T (eighty)

Y] AT THUHET aTed dieds AT (Public company) Calenal
(Paid up capital) =TT FT g98 7

Except as otherwise, the paid up capital of a public company should be
a minimum of ................

(A) % ©F &g (Tenmillion) (B) % 3% #€ (Twenty million) -

(C) ®. @1 % (Thirty million) (D) % =) %€ (Fourty million)
FAAH FEIAT U AAT TRTFHET TS T Hel HGes TohToed
According to current company act, the term officer includes all the
following axcept: E

(A) ==& (Director) (B) FEFTT 9@ (chief executive)
(C) 9% (Manager) (D) 97T (Shareholder)
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6.

10.

WWWWWWWHTMWTW

FEIAT o fa e arfues afde faawor aaw I ¢
Every public company's Board of Directors should be prepare its annula
Financial statements at least ........... .. days prior to the holding of its
annual general meeting.
(A) 97 (Fifteen) (B) &9 (Twenty)
(C) v=d1¥ (Twenty five) (D) & (Thirty)

* @ HAATE ATAE FTARTEAT ATl Tereel Tl Hl 94 ¢
Who among following is the internal user of Accounting information?
(A) 91g (Creditor) (B) 9¥#¥ (Government)
(C) FHATT (Personnel) (D) ¥% (Bank)

BT e FF qaeT 3 @l

AT B dEeTee T S S m CEC
a. el HATHT deHT

b. afaeE wrsrer faaeor a9 saEarar

c. WY FH WE ANGH TLAT

d. SF®r qonTa #Y T

(A) T EF (B) 54 afs®
(C)a? b AT &TF (D)c7 d =t 3%
Which of the following is correct? '
Generally stock value of the Bank increases, When:
a. Profit of the Bank increases

b. 1Inthe condition of divident increment

c. Risk reduction by reducting debt

d. Increase of capital fund

(A) All are correct (B) All are incorrect

(C) a and b are correct (D) ¢ and d are correct
ST AT 7 FEAfaATE m ................... At |
(A) €z |1g 4 (B) €& ATHT HrAT

(C) g% F=ara" dmr (D) ¥ HTITEITEA

Ratio between Bank's Revenue and Assets is called ...............
(A) Net Creditor Limit (B) Net profit margin

(C) Net operation Margin (D) Bank Performance

FEAATHT Feefed TOET [ 717 g, 7

(A) FTHT AT G AMEA - (B) GrATH A @A A= T
(C) 7% HiwaTA 9787 W3 (D) It T Ergd

Why Trail Bafalnce is prepared in a company?

(A) To identify profit/loss

(B) To examine mathematical accuracy of ledger

(C) To wress the cash balance

(D) None of the above

e



14.

15.

11. FrTEwE AEeT T B Al

(A) TITT FHAT AH] FFIATHT WG FORAT

(B) ﬁmmwaﬁmmwwmm
(C) FFIAMETS THATIA T g

(D) FFIHTEATS U7 T i ,

What is Amalgamation of Companies?

(A) Absorption of one company

(B) Reorganization of two or more companies

(C) Reconstruction of a company

(D) Reformation of a company

.ﬁqﬁrmﬁmmwﬁmqﬂmmmwwwmﬁm

FEIAETS afeg |
(A) HETTFE FFAT (B)uﬁm—%
(C) 73t FFT (D) ®IfaeT % 91 &g

50% or more of total capital of a company invested as share investment
by another company is called. ...................

(A) Subsidiary company (B) Holding company

(C) New company . (D) None of the above

. T FHAS [aHT FEAB 5000 fEAT ST w quo wiE Sve @ee

@itz T | fama AT o fe Smver arEfas e s s 00
malmmﬁmmwmmwmﬁwmw
wooooanﬁmmwmaﬁﬁwwmﬁm !
AMAN company purchased 8000 shares of BIMAN company @ of Rs
150 per-share. Actual share value of BIMAN company is only Rs 100
per share. Capital Gain of Rs 150000 is allotted to AMAN company.
On the base of these information calculate the value of Goddwill?

(A) Rs. 200000 - (B) Rs. 250000

(C) Rs. 300000 (D) Rs. 400000

B ATEITHT TTAT FFATE AT Giaq ga7

(A)E‘FEHTFT . (B) g

(C) g1z ‘ (D) AT=TEF TS

In which of the following condition name of the company need not be
changed?

(A) Amalgamation (B) Absorption

(C) Reconstruction (D) Internal Reconstruction
ThIEd ATHATTHT FPIATH] T FRET T g

(A) [ sfa=r JrRT (B) ferw afgerr et

(C) forw ufgert wmer (D) F737 HFAT ST

In which of the following transaction not included in Consolidated
Balance sheet?

(A) Profit before take-over (B) Profit after take-over

(C) Loos after take-over (D) Inter-company transactions
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16, 719 FEAT W ATHEAT ATATT FATS. FEAT . aﬁﬁfx‘-ﬁﬁrfal
T SR T F araenae! FiT =" g

Fifaes _ gt

AT AT 150000 == =ar i 180000

E 100000 . =7 30000

FASY FT 3_0000 BRI 30000

HUGH 50000 FETHT - 100000

HTHRT AT 15000 gRfoTs &= 5000
345000 ) 345000

gz Fwla fafae araeen dem W AE @iE e BT TR ¢
Nath Co. Ltd sells its business to Anath Co.Ltd the Balance Sheet of
Nath Co.Ltd on the data is as follows:

Liabilities - Assets

Issued capital 150000 * Plant and Machinery 180000
Creditot . 100000 Furniture L 30000
Workmen Fund 30000 Cash - 30000
Debenture 50000 “Debtors . 100000
Profit/Loss 15000 Preliminary Expenses 5000
345000 : 345000
Which is correct purchase consideration under net asset method: |

© (A)220000 , (B) 230000

(C) 240000 (D) 250000

17. yeie faaurmr % 7 3% g |
. €% 9™ = &N A - FE H;Y
2. @G 9T = T 4 - TA AT
Identify "True" or "False" in following statements:
1. Net Income = Total revenue - Total expenditure
2. Net Income = Total revenue - Total debt
(A) 15 & 2 F&% &1 (1 is true but 2 is false)
(B) 3% faaevres &% B (Both statements are (rue)
(C) 74 faawures &8 @A (Both statements are false)
(D) | %8 & 28 & (1 is false but 2 is true)
18. irar fqmw‘m{ | (Match the following) 3
a. H@THT ASAT |, @@r gHEHE 9

(Setting accountmg standard) (Auditing standard board)

b. S@TIITE ASHT 2. @@ e
(Setting Auditing Standard) (Accounting standard board)

c. Y@ TEEWH [aer| 3. HEeEr EE

* (Developing of accounting (Auditor General)

profession)

d.  FEr smaETTe faEre 4. FUTH ATEE UHlgrdle H=T
(Development of accounting (Institute of charter
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20.

B
B8]

profession) Accounting of Nepal)

(A) a3, b-4, ¢-2,d-1 ~ (Bya2.b-
(C) a-4, b-3, ¢-2, d-1

1, c-4,d-3

(D)a-1,b-2,¢c-3,d-4

@ FET TEAHE T A (Users) g, fFeretEr |
(A) FTHR T 7% freTaes (B) FITTEAT 7 0T

(C) faraar anteregs
Identity the most obvious users of accoun
also called .............. :

(D) T Taes

ting information person is

(A) Government and its agencies (B) Investors and lenders

(C) Development partners (D) Political parties
JeTATe SAfRe TAT T o qH e qi A |
(A) IsfT Ffeseor (R) aTEeTT |7

(C) ATAT AT HqIHFE (D) =Tt

Acconting Equation prepare by professional

person is also called ..........

(A) Capital Equation (B) Balance sheet Equation
(C) Profit & Loss (D) Liability equation
. HTAFT T TG TGP FH FA A G0 Swfem Frge ¢
(A) Fefees ; (B) #@TTiTeE
(C) afeper (D) feFam=
-As per Income Tax Act which cne of following is not professional
person?
(A) Doctor (B) Auditor
(C) Lawyer (D) Earmer

L. TR 7 @9 @A §9ATT dTRTr T @Y dareae

2. 9T SEEEHn feafa faaem &

3. TRl 7 @S @A A{a® T qre g

Read the following statements and identify the correct and incorrect

alternative:

I. Capital Income and expendirures are n
expenditure account
~ Balance steet is position statement of bu

L D

(A) 17 298 B a7 381% 3 (1 & are inc
(B) 131 & % 27 3 %% B (1 is correc
(C) 241% & &% 17 3 38 = (2 is correct

ot included in Income and

siness.

3. Income and expenditure account based on real account

orrect but 3 is incorrect)
tbut 2 & 3 are incorrect)
but 1 and 2 are incorrect)

(D) 1 & 238 &1 a7 3 38& B (1 & 2 are correct but 3 s incorrect)

. THET AMAAH A 7 TEAS FEAET FET FEET T@re ¢

(A) e Ferirer feuatae A6 (B) Her seqeiier femafgay smar
(C) 7= FFITe T sfaral AT%T (D) 777 g s

What types of. transictions between Holdin
are not shown in consolidated balance sheet?
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25

27.

(A) Profit after holding company
(B) Loss after holding company
(C) Profit before holding company
(D) Inter company transaction

Wet HIIATS FETIF FIAATAT AT T A AEIAE F AT
(A) IHATH ATHT (B) ATIRTA AR :
(C) ToATRT : (D) YT ATHT

What is the name of profit before making investment in subsidiary
company by Holding company?

(A) Cpaital profit (B) Revenue profit
(C) Pre-acquisition profit (D) Unealised profit .
_@mamw&mmw@wwmm = &
S g ; | :
(A) Atafeeh TFT (B) =T
(C)ge : (D) =Tt ,
What is the additonal account of money paid by the holding company?
(A) Preminm (B) Interest
(C) Discount i (D) Goodwill :
26. T Sr@ (Cost Accounting) # YH@ Je¥d TeAE wEA FA AIEA ¢
(A) @ [RE=w (B) ANTA WETS
(C) amTee! fagaor T (D) FAAT ATFTFAT T T
The main objectives of the cost accounting includes all of the following
except: )
(A) Cost control (B) Cost reduction
(C) Cost analysis (D) To fulfill legal requirements
AT (Cost) F AferE TeT TR A 7 favdwwr w ghHATTs
................. qi=g, 7 - :
(A) SATEATIA =@l (B) Taira =@t
(C) @A =@t (D) &9 @@l

28.

The process of recording classifying and analysing of cost is called........
(A) Management Accounting (B) Financial Accounting

(C) Cost Accounting (D) Expediture Accounting
st AR (Labour Cost) @8 ...ooooocoee. T e A TS AT
AT T Hikwa | -
(A) ToHE 7 A9cAET - (B) #T=1e® 7 "Ted
(C) =T, T gHra (D) FTaR 7 faErd
Labour cost may be classified into .............. and ..vemeeieenoiin
(A) Direct and indirect (B) Internal and external
(C) Re-current and capital (D) General and development

1%



29,

30.

32.

33.

34.

(A) IHIET T3 TET3aT dBH AT '

(B) STIET HE T3 T2 AN

(C) STaTe. g9TE Fardar fea e s

(D) ATT9®T 7 9fT &g

What is Vdrlab]e Cost?

(A) Increased cost with production unit increases

(B) Decreased cost with production unit increase

(C) Constant cost with production unit increase

(D) None of the above

AUSTTHT fewl YT WU RITATAT It Fraprd T gumelesr @ & & 7
What is"the name of the inventory release system of First come first
release?

(A) FIFO (B) LIFO

(C) Both (D) None of tha above

! mmmmwwmﬁmm—wmmﬂf

(A) ATEAHIE G54 gz U 7y
(B) BITATHIE qed Udel IRY
(C) AT HTATH HeT o7 9qus a6y

(D) wifq=T %7 ufq gga

What appropriate time to ‘use of the inventory release system of First in
first out?

(A) When price of goods increased

(B) When price of goods decreased

(C) When price of goods constant

(D) None of the above

FredT @few smer wfram st fair 1 ates -

How many methods can be used to calculate Economic order Quanity?
(A) 1 (B)2 (©)3 (D) 4
aﬁwm%ﬁémmahmummﬁﬁvﬁmqhmm
When one is not Frienge benefit given to loboures among these?

(A) 51T (wage) (B) &TaTH (Accomodation)

(C) #ufy (Medicine) (D) ®4aTET |TE9 (Vehicle)

UF FHAES GAH0ET 5 95 ST UGG | & 4 IET THE A
O.34 "9 HH ¥@GE | §IH ¥O YU &H el 9500 919 FeareT
WP G | AT A=A AT TG et FETHeR e # a@7 ¢
Wage rate of a worker is Rs. 18 per hour. 0.25 Labour hour is needed to
produce 8 Units. 1600 units were produced in 40 hours of week. On the
base of these information calculate wages as per Rowan plan? :

(A) 862 (B) 863 (C) 864 (D) 865

9%



- 35.

36.

37.

38.

AT S 77 Q0 B | AT WaEve Wl FH FH T HAwd
3 ﬂowwm7mwa€rmﬁaﬁrﬁaoma@
If general wage rate of a worker is Rs. 10, A worker can earn more than
Rs 10 by exceeding the standard than the worker perform below .
standard. Who's plan is this? : ‘ :
(A) ¥er¥ AT (Halsey plan)  (B) 7T AT (Rowan Plan)

(C) 37 FrwiT (Taylor Plan) (D) e wEA (All are wrong)

sy qfvaR FeEE A fague e wier fAers w9 fefer |

Match the contents of the following and select correct answer:

a. U faid |, #TSH =HE
(Separation Method) (Inward Labour)
b. widegmd fafa 2. W AtHE
(Replacement Method) {(Outward Labour)
c. fafua fafa 3., 9T T WA AAE 34
(Flux Method) (Inward/Qutward both way)
(A)a-2,b-1,¢-3 (B)a-1,b-3,¢-2
(C)a-1,b-2,c-3 (D)a-2, b-3,¢c-1
Sirer frersR, | (Match the following)
a.  qrATATA HAT |. 94,3, gars |41
(Transport service) (Bus, railways, airways)
b. @rdfd A 2, "o T AT
(Supply service) . (Meals and accommodation)
c. s # 3. g, e, fasgr,
(Lodging service) (Energy, gas, Electricity, water)
d. FETTETT HAT 4. FEF I, ASF AAA
(Welfare service) (Street light and road maintenance)
(A) a-1,b-3.¢c-2,d-4 (B) a-2, b-1.¢-3. d-4
(C) a-3,b-2.¢-3,d-4 (D) a-4, b-2, ¢-1,d-3
Frrerendy @mser 9fvor (Economic order quantity) ZETTET T EA A

Fafurame faieor wfvesg, ¢ PoreereL |

Identify the approaches to determine the Economic Order Quantity

(EOQ) from the list given below:

o T wEEE fafg (Mathematical or formula approach)

b, farevumcHe gEE UUs ¥ 4 (Analytical or trial and error
approach)

¢. urw fafa  (Graphical approach)

d. @mafF® fafd (Modern Approach)

(A)1and 4 (B)2and 4 (C)1,2and 3 . (D)2,3and 4
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39.

Which cost is fixed in variable costing?
(A) =1 &R (Total Cost)

" (B) ot TS Tegay S (Variable cost per unit)

40.

41.

42,

43.

" (C) W11 AR AETA (Cost of material)

(D) =¥ @1 (Labour cost)

TR WATE TH T A5F 7 7

(A) ®F @FTT FdIRAaT0= @0 &

(B) Fi¥ad+ra @mTas giq 318 ana 1R T3

(C) STMe u=rg g ufv ff=m dmr a7 feqe e for w
(D) a7 |rTe=T 9T 30 AN e T

Which statement is incorrect from the following?

(A) Total cost is semi-variable cost

(B) In variable cost, cost per unit is equal

(C) In certain level. fixed cost is constant if production units increase
(D) In fixed cost, cost per unit is equal -

U ST @A (Absorption costing) ®TE et sdET EiE]
wﬁ‘a I _

(A) TTFIEIT SErfaty (B) wmgf e Fr@rtata

(C) Feifeey wranfafy (D) yrTiTE wEfaty

Absorpuon costing is also known as .

(A) Traditional costing (B) Modem costmg

(C) International costing (D) Standard costing

ZAEIT w@l (Management Accounting) & yHE IE9T EET!W:T e
Eal CEL I

(A) AT 4T Foroare =T =T Jersy T[T!?Tj

(B) A=A far=ora =g I3

(C) HTHER T4T WW et T

(D) 7= frare 1

The main objectivee of management accounting includes “all the
following except:

(A) To provide information for planning and decision making

(B) To facilitate management control

(C) To motivate managers and employees

(D) Determination of price

ol T FAT W 7eqe% (Accounting partitioners) 3 9TET
T Afd® 7T (Ethical standards) %7 %7 &1 ¢ far={er |

Identify the ethical standards for accouting practitioners from the list
given below:

1. @ faegr (Integrity)

2. - FEHEAT (Competence)

3. fqwa®ar (Confidentiality)

11



45.

46.

47.

48.

4. FEETEAT (Objectivity)

(A) 1 and 4 (B)2and 3 (C)3and 4 (D) 1,2.3and4
“qﬁﬁﬁnmqﬁimwﬂwm|mﬁmww
9fT T o W W T4 SeaTEA WA o ¥ W g |7 A WS & A
(A) 3= (B) ¥EF

(C) W= Afdew (D)nﬁmmﬁwﬁfm

Per unit rate of variable cost is always equal, but per unit rate of fixed
cost decreases when production increases. What is it? -

(A) Right (B) Wrong

.(C) Can not say - (D) None of the above

et fazua faavoreTe Wier fAens e I Bl |

Match the contents of the following and select correct answer:

a. @A 1. fafe gwafaa | .
(Cost) (Sales related)
b. IR GiEATT 2. HITET FHE{ead
(Production volumn) (Demand related)
c. faf® 3. gaeEd, fats 7 anmEa aEtead
(Sales) (Production, Sales and Demand related)
d. ATH 4. gearEA qiEATOTET FEAT
(Profit) (Production volumn related)
(A) a-4,b-1,¢c-2,d-3 (B)a-1,b-2,¢-3,d-4
(C) a-4,b-2, ¢-3,d-1 (D) a-3,b-1,c-2,d-4

Pt FaRUTE ST ATATAT STAT 97 ¥ ATHTH Fel 0 BVl |

One the base of following statements select the appropriate answer for
contribution margin and profit:

Sales: Rs. 100000, Variable Cost Rs. 40000, Fixed Cost Rs. 35000

(A) Rs. 50000 and 25000 (B) Rs. 60000 and 25000

" (C) Rs. 40000 and 35000 (D) Rs. 60000 and 65000

frer Paa7oe®el WTUTOHT ATHT 7 JEATGH GRHIM SIS FEl I
BRI |

On the base of following statements select the appropriate answer for
profit and production volumn ratio:

Sale Rs. 100000, Variable Cost Rs. 75000, Fixed Cost Rs. 40000
(A)0.25 (B)0.35 (C)0.45 (D) 0.5

Fore FavuTE=aT ATITRAT TRiag Hel Iut SIerd |

gt gerg faf® 17 = qo i T TiEeHE AN 3. % feat A
Y0000

On the base of following statements select the appropriate answer for
break even point:

Per unit Selling Price Rs. 10, Per unit variable Cost Rs. 6, leed Cost
Rs. 40000

(A) 5000 - (B) 10000 (C) 15000 (D) 20000

1=



.49,

50.

Si.

32,

W%vmﬁﬁmmwﬂﬁ@

(A) FTRT (B) =TaT
(C) AT Feerm (D) garr fafs
What is called difference between actual sales and break even rales?
(A) Profit (B) Loss
(C) Margin of sefety (D) Credit sales
TAE AU GIF g T FEA ATR TG 7
(A) SHET Yo% (B) fatF yarees
(C) Argfaerar (D) FRIHTERAT
Who is responsible to prepare direct material consumption Budget?
" (A) Production manager (B),5alés managers
(C) Supplier (D) Investors
AR R T F@GIH GEATT AT GATEAT B 7
(A) FTHTE (B) =H==maT
(C) wr@mqrer (D) |18
Who is the external user of accounting information?
(A) Managery  (B) Businessman
(C) Accountant (D) Creditoris
(A) Frafas arTq (B) gfeaasmT |
(C) TEfeifeT s (D) wiiaer F 9T &gq
What do you mean by standard Costing ?
- (A) Real Cost (B) Variable Cost
(C) Pre-determined Cost (D) None of the above

J3.

AT ATt TR ¥ ATy aREE e S i

SIS YA WeAel IO a7 AreS afoms T A gean e &

53.

| AT SATE TS A 7 .
Difference between Standard Quantity and Actual Quantity multiplied
by Standard price per unit is Material Usage Variance? What is it?

(A) Right (B) Wrong ;

(C) Right/Wrong Both - (D) None of the above

. T F9i¢ Flee Tqw Afreg 7

(A) fafF Tz 7w nhwgafs  (B) 3mmew ave qaw wis
(C) =¥ T9e 7aw Wty (D) &4 F9E qIR Ui
When do Cash Budget is prepared?

(A) After sales budget preparation

(B) After production budget preparation

(C) After labour budget preparation

(D) After all budget preparation

a7 asteane AT Fae e @39 0 4@ warE @ A

- Cost control is not possible through Static Budget. What is it?

(A) Right ‘ (B) Wrong

1R



56.

7.

58.

59.

60.

(C) Right/Wrong Both (D) None of the above
mﬂﬁmmﬁwmﬁmawwmmw:

g C SR S mei
(A) 7TeT8 T HW (B)ammamva-afmm
(C) 9ra7 7 fga==7 (D) AT HO T A AW

The government collects the required resources mainly from ...
and .. '

(A) Revenue and debt (B) Foreign loan and assistance

(C) Share and debenture (D) Internal and external loan
FACATE TRATTAT oo - TN TR T g% ATHT A
e | ! ‘

(A) ITE T ATAE (B) %7 7T9red ¥ T F AT

(C) F¥ITA F7 7 ATART (D) AT FF T ATHOSE FY
Revenue mainly classified as .............. andis.on . st .

(A) Direct and Indirect

(B) Tax revenue and non-tax revenue

(C) Institutional tax and income tax

(D) Transportation tax-and social tax

FqreraT geF afddfs ®7 (Value Added Tax) # T&HA & B @eﬁr =
The rate of VAT (Valuc Added Tax) in Nepal is ...cccccevunninnns

(A) 10% (B) 11% (C) 12% (D) 13%
WW?&?&%WWWT@W%

(A) T Fig (B) TG %Y TIMEA
(C) w=aTe "Fgrae = (D) =aH F? fAumm

Which of the following statement is not objective of prevailing Income
Tax Act?.

(A) Revenue increase (B) Effective tax administration
(C) Custom Leakage Control . (D) Self Assessment of Tax
A= fegusr we F4 U7 Feardt g & ¢ :
(A) I TT (B) wnfd T
(C) 9=9R TF (D) o9 UF
Which of the following Act is in temporary  nature?
(A) Income Tax Act (B) Financial Act
(C) Custom Act } (D) Excise Act
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6l.

64.

65.

66.

67.

mewmﬁwml

Match the contents of the following and select correct answer:

4. FHE F (Direct Tax) l. 99917 (Custom)
b. #YEH %7 (Indirect Tax) 2. FHR T gfrgAd (Change in
: Tax rates)

¢.  Af9%F 7 (Financial Act) 3. #H % (Property Tax)
Kics 7 TEE (Non-tax 4. FEETAT (Penalties)

Revenue)
(A) a-4,b-1, c-2, d-3 (B) a-1, b-2, ¢-3. d-4
(C) a4, b-2, ¢-3, d-1 (D) a-3, b-1, ¢-2. d-4

Every person related to tax should submit income statement within how

~many months after end of year?

(A) 3 months (B) 6 months  (C) 12 months (D) 5 months

(A) F¥ 7 TR (B) #% 94 T W7 #7 1o
(C) AT T AR /e qel (D)% & 7 5=

What are the two sources of tax?

(A) Tax and costom _ (B) Tax and non tax

(C) Exise duty and custom (D) Non tax and custom

In which yar, Nepal has started first time tax act?

(A)B.S. 2017 - _ (B)B.S. 2018

(C)B.S. 2047 ~ : (D)B.S. 2063

How much percentage of social tax should pay by a person?

(A) 1% (B)13% - (C) 12% (D) 5%
T [aSUH Wl B A genr vl

(A) TTfe=Tae 9 (B) 95T &

(C) Furer T FFar w7 (D) 5T T#H7

Which of the following is in tax exemption?

(A) Salary Amount (B) Capital Gain

(C) Income of Nepal Rastra Bank (D) Allowance Amount
STeT FeraEe | '
Match the following: -
a. A fawr afeem T q9F | werr =t g CRll
(Not to file income return) TETF A (Owner of the
vechicle (Natural person) which
are rented out

b. #FT (Income tax) 2. IUHENTHT  WnE (Charged in
. consumption) )
€. AFeF (Excise duty) 3. JEEAEE Ay (Charged in

%1



68.

69.

70.

¥iB

production)
d. weu iy #  (Value 4 yreeEmET @rm  (Charged  in

added tax) income)
(A)a-2,b-4,c-1,d-3 (B) a1, b-4,c-3,d-2
(C) a-3,b-2, ¢c-1, d-4 (D) a-4, b-1,¢-2,d-3
et FrsuET W WA & GHEE HE A TEA ¢
(A) =R @ (B) #ATTET THH
(C) HaF=a" @4 (D) wiifeT ==
Which of the following expenditure is not included in tax deductions?
(A) Personal expensess (B) Income tax ammount
(C) Entertainment expenses (D) All of the above

AT U A W HE (A A E A

(A) Ferareoredt smarean i &% fAaiem

(B) @ATEH AT e H¢ (A

(C) =rattae AT e HT

(D) Tifaer e T B

As per prevailing Income Tax act what is Jeopardy Assessment?
(A) Statement based tax assessment

(B) Account based tax assessment

(C) Justice based tax assessment

(D) None of the above ; :

BT |

In relation to the Income tax, match the contents of the following and
select: ’ F

a. @rg-faEer giEer 1. oA giawd 32
(Tax return file) (100% waire)

b, ® HEAA 2. 3 wfeAr

- (Tax collection) (3 months)

¢c. HT Al _ 3. @9 ® GEiEal
(Tax payers) (Selft Assessment)

d. = am 4, b9, AT 7 AR
(Agricultural Income) (Poush, Chaitra and Ashadh)

(A) a-4, b-1, c-2, d-3 (B) a-1,b-2,¢-3.d-4

(C)a-2, b4, ¢c-3,d-1 - (D) a-3,b-1,¢-2.d-4

JqTEHT HETErETITAS] Tl T TUEH E |

Accountant General in Nepal was established in ......... Lersenagersiniess
(A)2007 B.S.  (B)2008 B.S. (C)2009 B.S. (D) 2010B.S.

(A) F=aTeE AT (B) 9197 Elee?
(C) FFEATTE (D) | F4T



3.

74.

75.

76.

Who appoints the auditor of a public company?

(A) Board of Directors (B) Shareholders
(C) Manager (D) General Assembly

(A) HETeTET THETE

(B) weTer@l fAo=s smtag :

(C) 4l&Ta® T80T JE=TT T

(D) =% #a1 aranT

All the following includes constitutional bodies except:

(A) Auditor General

(B) Office of the comptroller General

(C) Commission for the Investigation opf abuse of authority

(D) Public Service Commission

(A) 99 T=g (B) RETE@T TeI4Tehe! Hrafer

(C) WeTer@l o=t Fmaied (D) Tftey qada d

Which of the following is statutory body for conducting internal audit?
(A) Ministry of Finance %
(B) Office of the Auditor General

(C) Office of the Fianancial Comptroller General
(D) National vigilance Centre General

In relation to the Auditing, match the contents of the. following and
select correct answer:

bl

a.  ATARE AT 1. frafas smaradam
(Internal check) (contineous audit)

b. #=fE e 2. HE YUTEEEH T
(Internal control) (Evaluation of all system) -

c. ATHRE wETTiEw 3, T _ :
(Internal audit) (Control techniques)

d. st sargdie 4. WG FHEE fadTee
(Final audit) - (Division of accounting work)

(A) a4, b-3,¢-1,d-2 (B) a-1,b-2,¢-3,d-4

(C) a-2, b-4, ¢-3. d-1 (D) a-2, b-4,¢-1,d-3

(A) FFHTHT ATETHT .

(B) FFITH FTETTHT =19 UHT AR

(C) Hifwe =1fres wwar ooy

(D) wrfq=r g3 :

As per Company Act who is not eligible to be an auditor:
(A) Debtor of the company

(B) Conflict of Interest in the transactions of the company

13



7.

78.

9.

30.

81.

(C) Company having limited liability
(D) All of the above

FETATET oo o7 srErefiEer giHaEd yEd T9E |

(A) F=aTeE A (B) AT HTHATIE

(C) ATATE T@TIIETE (D) FTET AT

Company auditor presents his/her report to THE sooucasuntusmmponsaes i

(A) Board of Directors (B) Company manager ‘
(C) Internal Auditor (D) Annual General Meeting

(A) TETERET THEEF] AT (B) WeTer@T [l Haed

(C) & 4T Sray (aere FEed (D) 39 A '

Which entity is liable for Final Audit of Accounts of Gvernment of
Nepal?

(A) Auditor General Office

(B) Financial comptroller General office

(C) District Terasury Office

(D) Ministery of Fiance _

(A) HETer@T TeIeTHeE] FAEE  (B) TEE THSTERE

(C) FY 74T o@l HAAF FATET (D) T AEIEE

Whicn entity is liable of Final Audit of Accounts of Government of
Nepal.

(A) Auditor General Office (B) Chartered Accountant

(C) District Terasury Office (D) Independent auditor

ST AT o S MATETE el (s qE 9 e |
In relation to the Audting, match the contents of the following and
select correct answer:

a4,  EIHTET S@IIITET |, Tregaid
(Government Audting) (President)
b, THEANEE A@ITIIE 2. HETaEl JRIEE
(Commercial auditing) (Auditor General)
c. ATAE AT 3. =TeE UHICC
(Internal auditing) -~ (Chartered Accountant)
d. @i giass 4. . BT F4T @l AAE FEAT
(Report of auditing) (District Tresury office)
(A) a-4, b-3,¢c-1,d-2 ; (B) a-1, b-2,¢-3,d-4
(C) a-2. b-3, c-4.d-1 (D) a-2, b4, ¢-1.d-3
TR A @A vt T4 ¢
*(A) TS T G ¥ AHEATS AF
(B) BT T TG 7 AFATE AH

(C) Ty BT I6T ST
(D) T faw 7 # FET

9%



83.

84.

85.

¥

Which is not main objective of auditing?
(A) Defection and prevention of errors
(B) Detection and prerention of frauds
(C) To identify mathematical correction
(D) To make act rules and regulations

LN

B o A

Varification means .....................

(A) Check the assets and liabilities (B) Check the profit and loss

(C) Check the voucher (D) Check the ledger 5
%ﬂﬂqmwmﬁwmfhawmwzﬁﬁﬁm
TR |

Out of the following which bank is not partially owned bank of
Government of Nepal.

“(a) 9 Fo fafgie (Nepal Bank Ltd)

(b) = fawma ¥ (Agriculture Development Bank)

(¢) 7 =AfoTey S& (Rashtriya Banijya Bank)

(d) o= =i e b (Nepal Industrial Development Bank)
(A) a,b, c 8% a7 d T (asb, ¢ are correct but d is incorrect)

(B) a,b,d 9T A7 ¢ &% (a. b, d incorrect but ¢ is correct)

(C) b.c,d T A7 a % (b, ¢, d are incorrect but a is correct)

(D) a,¢,d T&T A% b & (a, ¢, d are incorrect but b is correct)

%. 500 B FEW 7. 5000 ST MUHT WY FHEAT QAP TAT 7 7

(A) 71 Feg=47 (B) B2 #t==AT

(C) TF AT (D) Fzgifea et

Recorded Rs. 8000 instead of Rs. 800 which types of errors is this?
(A) Errors related (B) Errors of omission -

(C) Compensating errors (D) Errors of principle

AR Wl FF @I FTaeprafias o5 7

(A) feamer ferame st (B) I 9T T

- (C) FFE i wfadT T - (D) waa wy uft dre

86.

Which of the following is not right of a auditor?

(A) Check boopks of accounts (B) Get information

(C) To change company rules (D) None of the above

fereiTa Sraearawes 7% g gier el

(A) T 7 FFITaST 3ig (B) =W 7 Tifaew afg

(C) 75/ 7 @9 qig ' (D) FEEIAT T GHAT Aty
Which one is the main two goals of the financial management?
(A) Profit and wealth maximization

(B) Loan and liability maximization

(C) Revenue and expenditure maximization

1RY



87.

88.

89.

90.

91.

92.

(D) Efficiency and capacity enhancement

eI 111 2 11 o AU & e TS |

(A) ¥4 THHT ‘ (B) 9Tt 7T A%

(C) 7iftad AT ATATT (D) HETe@T TeIETE -
Who formulate monetrary policy in Nepal?

(A) Ministry of Finance (B) Nepal Rastra Bank
(C) National Planning Commission (D) Auditor General
oy atafaer e .. @ e T

(A) T4 AT - . (B) Tl T TF

(C) FreaTeE A (D) AT FIHT

Chair person of the Insurance Board is appointed by ....c...... Al
(A) Ministry of Finance (B) Nepal Rastra Bank
(C) Board of Directors (D) Government of Nepal
e Toaeor E1 T4 FEATS T |

Identify the ‘true’ and 'false’ in the following statements: !

| wefer B G faE, R0¥R @@ SO Wo@ & | (Current
Insurance act is enacted in B.S. 2049) ‘

o &7 FERTAET Sd HATEAE g 785 (Insurance board does
not consist the representutive from ministry of finance.)

(A) | & &1 2 8% & (1 is true but 2 is false)

(B) | %8 &1 2 &% & (1 is false but 2 is true)

(C) 77 fravres 41 B (Both statements are true)

(D) 3= faaores T4 B (Both statements are false)

(A) orfde Jzem - ¢ (B) arfd= g1

(C) i HrHH (D)@ T

INSUTANCE 18 .uvveeserersenenees against risk.

(A) Economic protection (B) Economic effect

(C) Economic program (D) Economic policy
A BT (©) A (D) 3™
“How many is the types of life insurances? ¢

(A) One (B) Two (C) Three (D) Four
o1 fezueT foraeuraTe et fAes WET g BRI |

Match the contents of the following and select correct ansSwer.
a. <ra= faAT (Life insurance) - 1. g=ame (Strike)
b. utA fa@T (Fire Insurance) 2. T#ar (Robbery)

c. ATHEE (Marine 3. ¥T<T fawr =r@r (Term Insurance
Insurance) Policy)

(A)a-3.b-l,¢2 (B) a-1,b-2. ¢-3

{_C}'a-'?_. b-3, c-1 (D) a-2,b-1,¢c-3
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93.

94,

9s.

96.

97.

98.

When was the Nepal Rastra Bank established?
(A)B.S.2013  (B)B.S.2012 (C)B.S. 2008 (D) B.S. 2007
(A) ST faomr a1 (B) 9T <191 9o=aT T
(C) FUSH 77T T (D) wifaaT 79
What are the major functions of financial management?
(A) To investment decision (B) To mobilize the sources of capital
(C) To forecast the fund (D) All of the above
qStThL F e A ¢ ‘
(A) @i gofr (B) A9
(C) afawre Oofr (D) Arfaer @a
Which is the sources of capital?
(A) Shareholder's equity (B) Debenture
(C) Preference shere ) (D) All of the above )
Waﬁmﬁmmmw ,00,000 7 T T §ATE ¥,
%,00,000 g 99 HTHRIAFAT T FT a7
When total present value of a project is Rs. 8,00.000 and Net cash
outlay is Rs. 6,00,000 what is the profitfability Index?
(A) 4 (B)2 (C)+4 (D) +.5
SireT FremaE | :
Match the following: )
a. S[HTH THR I Sf&w fawr « @y fam
(Types of Insurance) (Life  Insurance &  Health
Insurance)
b, Fsfr fammr 2. T9ofT famm 7 weardy fomr
(Private Insurance) (Private Insurance & government
Insurance) '
c.  AIHETE famy ; 3. Fard famr
(Government Insurance) (Auto Insurance)
d. arefters faar 4. FHETTE fomT
(Caualty Insurance) (Social Insurance)
(A) a-2,b-1, c-4, d-3 (B)a-3,b-2,c-1,d-4
(C) a-4, b-3, ¢-2. d-1 (D) a-1,b-2,¢c-3. d-4
(A =T &R (B) § 9= Fer
(©)1 (D)o
Generally what should be the degree of Financial Leverage?
(A) Less than 1 (B) More than 1

©1 (D)0

Re



99, T gaTE faavurl SR HE ¢ T
(A) Frefe doirer afeaa 9mer TP
(B) 7TE F= 4Tl ST
(C) 9T T=r AAIT
(D) wifaeRT & 9t ere :
What is the objective of Cash Flow Statement?
(A) To identify the changes in working capital
(B) To identify the cash surplus
(C) To identify the Debt
(D) None of the above . :
100.7% ATAISETET F, ¥,00,000 FA IS | 41 e ey ®.
q,oqoooawﬁxaﬁwmmﬁﬁa{maiﬁrajﬁm
| STITEHT AT RRAT St o AT |
(A)3.4 a0 (B)R AW (C)RY a0 (D)2 a9
Net cash outlay of a project is Rs. 5.00.000 and it generates cash flow
~ Rs. 2,00,000 each year for 4 years. On the base of these infromation,
identify payback period?
(A) 1.5 years (B) 2 years (C) 2.5 years (D) 3 years





